This is a 2-equation 2-unknown algebra problem.

I think of this problem like a slinky.  The intervals are like the spaces in between the coils, which can expand and contract, but who cares?  That dosnt change the number of coils between two spots on the slinky.

Since the unit spacings are known to be equal but we dont know what they are, we can call them "c" (this will be our scalar).  Now we can form relationships between what we do know:

Eq1: x + 2c = x + y      == 0x - y = 2c

Eq2: x + 4c = (x + y)/2  == x - y = 8c

Eq3: x+y+2c = (x+y)/2  == x + y = 4c

We want to express y in terms of x and c.

We actually dont need all three equations, only two.  using Eq1:

y = -2c

Substituting into Eq2: x - (-2c) = 4c == x = 6c.

If x is 6c and y is -2c, then x and y are 8 "c" scalar units apart (or in math terms, y = x - 8c, or in slinky terms, there are 8 coil-intervals between x and y).

Looks like this number line is backwards (unless c is negative).  The answer 8 units away from x is point "E".  Testing with a real value "1" for "c":

y=-2

x=8

yup, it works.  sweet.  time for an Old Style.
